£ 6 35ERRKR—VIRE LER
TRk25%7H81H
MITITBCEABARRR—VIRE+E 42—

AR PR B IR D 44 TR
#6 3 5EAR— VIR U

A TR — 2 IR B B 0D 5% 57 HA R
Ek 256 H22H (1) ~FAFE6H29H (1)

FeERA & 3 U8 B XM
TRk 256 H29H () ROFE4EG6 A3 0H (H)

4 B
T2 5ETH2H (K) ~FK2647H1TH (L)

AR—=VIRE CORERKILOEE e

*BIG
BE R A K B
No. ﬁmé [F—2F—2] AR (7D =1 F—2] < LR
BAfE H
©) 6/29 KEF—Y =Ry 1 xf 3 ETTT 4 AIE 2
® 6/29 AR C 0 %t 1 FIEF C 2
® 6/29 V77—V R 0 % 0 7Y A G i 0
@ 6/29 F Cli & 3 %t 1 ATV E IR 1
® | 6/29 EIRE C 1 %t 0 A F— L B 1
® 6/29 Wik S C 2 %t 2 HESY > HF. C. 0
©) 6/29 72— L gL 0 %t 0 77T — il 0
® 6/29 V7 af ATy RTEE 2 % 1 WY =V o 1
©) 6/29 VINZAVUN 3 2 %t 0 EETANT 4 A 1
@ | 6/29 a7y /HE 1 %t 2 Uy R E 2
@) 6/30 R EAE 2 xf 3 = e 2
® 6/30 FRiEF - <=V /X 3 % 1 BE7Yy NI —X 1
® 6/30 MrAn 0 %t 1 P77y F LB 2
@) 6/30 WLy X 1 %t 1 NN 0
(B) < UREROMT M) 3R —2F—20900MTOBKEL, 2] ZFR—AF—20905MTOAT,
0y 1Zzof 3150 - EE) 2H£T.
SR Ysex SR V=E" el (BIG) I 4
(F q=p (F)
1 % 600, 000, 000 1 7,140, 090, 594
2 % 1,907, 781 35 0
3 % 37, 896 392 0
4 % 9,990 2,978 0
5 % 1,740 16, 640 0
6 = 570 66, 033 0
B = A5 A Bl (BIG) Mn%4 (H)
e ba%E (M) 1,483, 831, 500 1 % 7,176, 234, 624
BEO#K (1) 4,946, 105 2 % 0
BEERE (KO 1,132, 731 3 % 0
4 = 0
5 0
6 % 0




*BIG1000O

B oE R A B B
N | BT [#—2F—24] AR (ro=tr—n] | S EFF
BAfE H
©) 6/29 KEF—YV =Ry 1 % 3 EUTT 4 A IWE 2
® 6/29 AR C 0 X 1 Rk C 2
® 6/29 Ve 7y —L Rl 0 % 0 7 B A G [ 0
@ 6/29 F Cl B 3 %t 1 AV E IR | 1
® 6/29 FIEF C 1 %t 0 HAF— L BHEL 1
® 6/29 WAS C 2 %t 2 HERY L HF. C. 0
©) 6/29 J 2 — Ll 0 %t 0 77T — il 0
6/29 YV TalAT vy RTEE 2 %t 1 WHY = VT 4 1
© 6/29 VIPZAVYN 2 %t 0 WETArNT A 1
6/30 FREF <~ VU /A 3 %1 BET v FT—X 1
() 6/30 MLA 0 5t 1 VAN AN 2
() < UHEROMT T 3R —AF—L0903MTORKL, 2] 13h—LF—LD903H TOAIT,
o) 1IXzoftt (BlE5F - ER) #&7,
WALk e A A YIE] (BIG1000) /N 4>
(F1) q=p (F1)
1 % 14, 479, 704 5 0
2 4 114, 554 158 0
3 % 12, 254 1,471 0
4 % 1,340 9,052 0
& = A5 48] (BIG1000) %4 (1)
e baFE (H) 241, 328, 400 1 % 0
BEOH (0) 1, 206, 642 2 4 0
BB (K0 343, 745 3 % 0
4 0
mini BIG
BFoE R & & R
N A B F N HARR Fo=gr—n] |
BAfE H
D 6/29 KFR—=V =K 1 % 3 EUTT 4 A 2
® 6/29 AARIIHEF C 0 xf 1 RLF C 2
@ | 6/29 V- 77— LU EIR 0 % 0 T A ] 0
@ 6/29 F Cl B 3 %t 1 AV E IR 1
® 6/29 FIRF C 1 xt 0 HAF— L BH 1
® 6/29 Wik S C 2 %Xt 2 HESY L HF. C. 0
@ 6/29 HE—LEL 0 %t 0 7 77—/ [l 0
6/29 VxTZafATy RTEE 2 % 1 WY = /VT o 1
©) 6/29 VIPZAVYN 2 % 0 EETANT A 1
()

< UFSEOMP 1] 1ZA—2F —2D905MTOKL .
o) ixZofth (5l&pis - IER) #£K7.,

2] IFAR—2F—209055 M TOAIT,




W ALK WA A IEl (mini BIG) N4
(F) q=p (F)
1 % 918, 440 M 0
2 % 19,872 759 0
3 % 4,140 5, 452 0
I S - A E] (mini BIG) IN% 4 (F9)
e &% () 150, 624, 200 1 % 0
BEOE (O) 753, 121 A 0
BB (K0 235, 952 3 & 0
toto
BE R A K B
O B N F Ay HARR (7oeqr—n] | <R
BAfE H
©) 6/29 KEF—V =Ry 1 xf 3 ETTT 4 A IWE 2
® 6/29 AR C 0 %t 1 FIEF C 2
® 6/29 V77— L Rk 0 %t 0 T B A S AE i 0
@ 6/29 F Cl B 3 %t 1 AV E IR 1
® 6/29 FIEF C 1 %t 0 HAF— L FHL 1
® 6/29 WAS C 2 %t 2 HESY L HF. C. 0
©) 6/29 72— Ll 0 %t 0 77T — /il 0
6/29 Yz T7arAT v RTIE 2 Xt 1 BT = VT o 1
© | 6/29 VINZAVN 2 % 0 EETANT 4 A 1
6/29 a7y /hE 1 %t 2 Uy R E 2
@) 6/30 R EAE 2 xf 3 A= e 2
@ | 6/30 FRIEE -~V /A 3 %t 1 BET v kT —X 1
® 6/30 LA v 0 xt 1 VAN A YN 2
(JE) < UREROMT M) 38— F—20905 M TORL, 2] ZF—2F—20D9055 M TOAIT,
o) 1XZzoftt (BlEoF - LK) #&£7,
WA AR WE A A KAl (toto) INE 4
(F q=p (F)
1 % 4,374,570 1 0
2 % 47,052 219 0
3 % 4,400 2,345 0
B = A5 A8l (toto) MNE4: ()
e Ea%E (M) 137, 486, 500 1 % 0
BEOH (0) 1,374, 865 2 4 0
BeEERE (B0 135, 848 3 % 0




‘mini toto A
B oE R A B B
Yo | ®OE L s RaHR (ro=tr—n] | W
BAfE H
©) 6/29 KFER—=Y =Ky 1 xt 3 EUTT 4 AW 2
® 6/29 AR C 0 X 1 Rk C 2
® 6/29 Ve 7y —L Rl 0 % 0 7 B A G [ 0
@ 6/29 F Cl B 3 %t 1 AV E IR | 1
® | 6/29 EIRE C 1 % 0 A F— LS 1
(B < UREOMF M) FFR—2F—20900MTOBL, 12 IR —A5F—209055MTOAT,
o) 1IXZzoftt (BlE5F - ER) #&£7,
WALk E R VIuE WAl (mini toto AHH) N4>
(F1) q=p (F1)
1 % 10, 418 816
B = &5 i A Al (mini toto AML) N4 (M)
7 &% (1) 17,003, 200 1 % | 0
BEOE (0) 170, 032
BB (K0 33, 268
‘mini toto Bf
B e R A B %
N A B C NN RamR (ro=qF7—n] | W
BAfeE H
D 6/29 Wik S C 2 %t 2 HESY L HF. C. 0
® 6/29 72— Ll 0 %t 0 77T — /il 0
® 6/29 VxTalAT vy RTIE 2 % 1 WY =V o 1
@ 6/29 VIPZAVYN 2 % 0 WET AT A 1
® | 6/29 a7y /HE 1 %t 2 U R E 2
(7E) < URROMT M) 3R —2F—20905 M TOBL, 2] ZF—2F—20D9055 M TOAIT,
o) 1XZzoftt (BlEoF - LK) #&£7,
W ALK SR INE - A (mini toto BfH) M4
(F q=p (F)
1 % 2,273 3,882
B = A5 A Al (mini toto BHL) %4 (M)
7e B (1) 17, 654, 600 1% | 0
BEOH (0) 176, 546
BeEERE (B0 32, 411



*totoGOALS3

fi

—

AE- S T

[F—2sF—14]

PrfeE H

=3

(7Y A4 F—21]

AR

< CAER

6/29

KFAR—V—Kv 7

TUTT 4 A ILE

6/29

F Clg &

X777 oAb

6/29

FIRETF C

—_]—_—t | —=

CHSJ CHENCHS)

HAF—L B

O] IWlw:i

0

() < UfEHR oM T0) 13905 CoKTF— L0158 T0A] |
(2] 139053 CORKT — DA T2/ |

M) 13903 CORT— DA T4 .
3] 13903 COET — 2 D5 13RI E] 2FRT,

WALk WA A WAl (totoGOAL3) MIE 4>

(M) Q) (M

1 % 271, 837 30 0

2 & 4,270 1,275 0
B = &5 i 4 1A (totoGOAL3) MNE 4 ()
ge 4% (1) 27, 200, 700 1 % 0
BEOL (A) 272,007 2 s 0

BeEERcE (B0 40, 435




